Problem solving .

Rewarding
4 Calculating the wages and the salary
Assuming that there is 28.5% tax on the employer after the wages… 

a) …what will be the maximum gross salary in a job that’s value is 300 000 HUF for the employer? 
………………HUF
b) If the employee also has to pay a tax based on its earnings (tax rate is 34.5% of the salary) than what is the minimum total labor cost of employing a worker with a net reservation wage of 200 000 HUF?
………………HUF

SOLUTION
a) 300 000 / 1.285 =233 463 HUF (the tax is 85 500)
b) 200 000 HUF / (1 – 0.345) ∙ 1.285 = 305 344 HUF  ∙ 1.285 = 392 367 HUF (tax of the employee is 105 344, tax of the employer is 87 023)
5 Calculating the wages and the salary

The personal base hourly wage rate is 600 HUF for 100% performance.

a) Calculate the earned wage in the following wage systems:
Linear variable pay: 
P = 70%
…………………. HUF/hr

P = 89%
…………………. HUF/hr

P = 105%
…………………. HUF/hr
25% fixed and 75% linear variable pay: 

P = 70%
…………………. HUF/hr


P = 89%
…………………. HUF/hr


P = 105%
…………………. HUF/hr

50% fixed and 50% linear variable pay: 


P = 70%
…………………. HUF/hr


P = 89%
…………………. HUF/hr


P = 105%
…………………. HUF/hr

b) What is the lesson for the motivational force of the fixed and variable pay?
.………………………………………………………………………………………………….. .………………………………………………………………………………………………….. .…………………………………………………………………………………………………..
6 Efficiency wages
The employer observed the following relationship between wage levels and MRPL. 

a) Calculate the efficiency wage level. 
b) Calculate the total profit from employing 10 identical workers.
	Wage: 
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	MRPL: 
	1.0
	2.5
	3.55
	4.25
	5.15
	6.15
	7.14
	8.12
	9.11
	10.1

	
	
	
	
	
	
	
	
	
	
	


SOLUTION
a) The efficient wage level is the one where the difference between the marginal revenue and the marginal cost (thus the marginal contribution to profit) is the highest.

The marginal contributions are:

	Wage: 
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	MCPL: 
	0
	0.5
	0.55
	0.25
	0.15
	0.15
	0.14
	0.12
	0.11
	0.1


Solution is wage = 3.

b) 10 ∙ 0.55=5.5
